Events / 1 GeV

Events / 1 GeV

CMS Supplementary (Simulation)

138 fb” (13 TeV)

r o%%=1.17

25/

C 68%

[ Ovxgs = 1-11

201

15}

10

s

E - |

799110 115 120 125 130 135
m,, (GeV)

CMS Supplementary (Simulation)

140

138 b (13 TeV)

121 o88% = 1.77

=1.76

L 68%
10+ OvxBs

110 115 120 125

Myep, (GEV)

130

135 140

Events / 1 GeV

Events / 1 GeV

CMS Supplementary (Simulation)

138 tb” (13 TeV)

140

- o%% =219
Un
[ o88%
F Ovxps = 219
5
4
3
2
1=
E oo > |
o5 110 115 120 125 130 135
m,, (GeV)
CMS Supplementary (Simulation) 138 fbo” (13 TeV)
L %% = 1.60
107 8% =
of,XBS 1.55
8l
6
4
ol
L 5 S ‘
o5 110 115 120 125 130 135 140

My,0e (GeV)



